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~ Question Pape;;' Code : 72071

B.E./B.Tech. DEGREE EXAMINATION, APRIL/MAY 2017.
Fourth Semester
Mechamel’gEngmeenng
MA 6452 — STATISTIGS,{Q;ND NUMERICAL METHODS

(Common to Fourth Semester Autoniaﬁ;e Engineering, Mechatronics Engineering
and Fifth Semester for Mechanical Engineering (Sandwich))

(Regulations 2013)
) Maximum : 100 marks
Use of Statisti«_';_j@,:table is permitted. '
Answer ALL questions.
PART A — (Ifx 2= 20 marks)

-

What are the expected frequencies of 2 x 2 contingency table £ 3 ?
(e

A standard sample of 200 tins of ooe-q{aut oil gave an average weight of 4.95 kgs

with a standard deviation of 0.21 ké’i_)o we accept that the net weight is 5 kgs
per tin at 5% level of significance?

What are the uses of ANOVA?
What are the basic principles in the design of experiment?
Find the smallest positive root of x* - 2x+0.5=0.

Evaluate Afx(x+1)(x + 2)(x + 3.

Solve the following by Gauss ‘:EIimination method 10x+ y =18.141;
x+10y = 28.14Q.

Apply Newton’s backward formula to find a polynomial of degree 3.
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13.
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@

(i)

(i)

A set of data mvolvmg&trop:cal food stuffs A, B, C, D tried on 20
chicks is given below. All the 20 chicks are treated alike in all
respects except the feeding tx tments and each feeding treatment
is given to 5 chicks. Anabse @)
A 55 49 42‘ 21 52
B 61 1}2 3@ 89 63

Cc 42

D 169 169 85 154
Perform a 2-way ANC : e data given below : 9
eatment 1

3
38
28
35
30
33
g 30 from the given number.
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Use the coding method :

Using Gauss-Seitiel
equations correct to a @

10x;, —2x; —x3 — %,

ve the system of the foIlowmg
(10)

= 2% +10x — x5 — %, =
—x; —x, +10x; —2x, =
—x; — %, — 2%, +10x, =

) 21
Find the inverse of the matrix |3 2 3| using Gauss Jordan
1 49

method. A ol (6)

> ving equations using Gauss Jordan
method correct to two d places. ®

2%, +2x, — X3 +x, =4 _

4%, +32, —xy + 2%, =6

8x, +5x, — 3xy +4x, =

3x; +3x, — 2% + 2%, = :

Determine by Power nathod the largest eigenvalue and the
e 1 1 3 -1

corresponding eigenvector of the matrix | 3 2 4 |. (8)
: -1 4 10
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